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Part 3 — Normal Distribution
he mean lifetime is 500 days. The

The lifetimes of 10,000 watch batteries are normally distributed. T
. ts this distribution; label the mean

standard deviation is 60 days. Sketch a normal curve that represen
and 3 standard deviations.
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Estimate how many watch batteries will last for each of the following intervals.

A) 440 - 560 days B) 380-680 days
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Part 2: Box & Whisker Plots

Create 2 box and whisker plots for the data sets below. Then, answer the questions that follow.

Olive Garden Dinner Prices: 10, 10, 15, 12,17, 13

Roman Village Dinner Prices: 12, 15, 16, 17, 18, 16
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Which restaurant has the smallest median?

Olive C/laf&(cﬂﬁ"f‘b'g

Which restaurant has the biggest range? b 10 = 1

| Dlive Garden= (3.2 =0

What percentage of Olive Garden's prices are at $12.50?
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Which restaurant would you prefer to eat at? Why?

Frnswers Ver-



